32

FET A
g
T$2,

TR
AHLF
AfLBERE
AL
s

A ¥EHE

10 fE4 HE

AR 284E B

INHEIE

R SRR A R R B T
HUSATH AT

lEES T C YN R

VE28FESHIH FRT9KE3047
WA 30 KaBs
WEwE W %A
(RS AR

- IR

il R R )
ETITNIEY S it

() R
EIEN: 5
WREEAE HEAn )R
I AT A

WEOHEEEE L

A KL R R & A OE

11 P REAE & _
T 5 % E Lei0s LR
HBaxseml 1,801,080 ™ 1,751,000 H
T E i 4% 1,891,080 M| 1,751,000 [
I 15 Hl (Bl A& M H ]

12 BRFLARIT

. A FL = £ B1E ARG E2m AFLEE [F3EAILSHE

IR =R 1,650,000 F [F&AL B 94.23% M
NS s 1,710,000 1) ]
il [ E ) 1,710,000 H "] ]
(AL e e 1,710,000 H M) ]
(TN 33 1,720,000 4 T &
ENESEEN 1,750,000 H ] M
WREEAE BUAEE 1,750,000 1 B =
N 1,750,000 F4 B =

13 HEALE PREAE R

14 %L &4 1,650,000 X 1.08 = 1,782,000

15 BHF0




34

S S
2 THES
3 LH4

4 THEIET
5 AFLFGE
6 AFLH
| 7 AALEFR
8 HifEE

9 EAEE

10 54 H/H

A FL R R #

28

INHELE

WIiE 2R R E A E R T
oI

R4 B AAL

288 HOH O304

BmETIRE 3% Kam®

WHEREE B FE
WEHRRR R BT
wEiRTE O BX

R A oA

R IE %5
BER L&

()L e R

e FEE

/I R

il FH R OA)
WREEA BhE

WEOEREZERLE

11 FEMSTRE

= 2 & 78| 1,724,760 BAFLEEMI
EEN S S 1,724,760 A1 1,597,000 H
T F f k| 1,724,760 [ 1,597,000 [
| B 15 H R 4% = ']

12 BEALIRIL

N B LB Lo 2o MNLa%E | o A LeTR

Ao 1,500,000 H [FEFL H 93.93% M
B T 1,520,000 0 H m
S 1,550,000 |5 M M
0 L e 1,660,000 5 H B
W= ﬁfﬁ 1,560,000 M H H
&l 1,570,000 [ = H
oA (Jﬁ? 1,590,000 [ H H]
(EF)%E% T S E 1,590,000 H M =]

13 BALE S =g

14 L &5 1,500,000 X 1.08 = 1,620,000

15 B




35

A HLFE R EE

1 TR OPR8HEHE 11 P e il 7 =&
9 TH&ED  28AHEHE6E \ e at & [ 10,681,200 PIIALLE B
_ 3B & & 7| 10,681,200 M1 9,890,000 4
3 THEA WY B/ AR R Ae T & TH F & ] 10,681,200 14| 9,890,000 [
7o A5 ] DR fff #5 _ H &

4 TEREFT TR H
5 ANLEE A AL

12 BAFLIRI

A AL = % H1EAFLEHE S om AFL &% [ B AfLEE
6 AFLABEF TERR28ES8HOH FRiORF30 Ak H &kt 8,612,000 M [FEFL B 87.08% M
(i A L 9,290,000 T ]
7 OANFLIEET O BRANTIREE 3 KeEE RBE I TR 9,500,000 ] i
ER=EH 9,570,000 H ] i)
8 HifEx R ME W BSi g 9,600,000 F ] i
. REHEE BE MW . U L TG R 9,650,000 H 1] |
RHmEER i BXR )/ 9,740,000 | 2 =
HIRERV AT A 9,800,000 H I H
0 FEAEE  BHERS |
R rERE 13 TEALA ok R 3R )
(EER TIBE
(B SR R ‘ 14 ¥ & 8,612,000 X 1.08 = 9,300,960
(BT A -
CHIEEY =R 15 BHFE
N =GN
BIREL AT A

10 feAl  BEOHBEEEELL




